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B is based on finite number 0 and 1. Which of the following options is true about A and
B?
B is digital while A is analog

[CIT711] Which of the following best describe the difference between synchronous and
asynchronous data transmission ?

In synchronous transmission data is transmitted in the form of chunks, while in
asynchronous transmission data is transmitted one byte at a time

[CIT711] Which of the following is true about full-duplex communication?
no party can transmit

[CIT711] Which of the following does WIFI connection use?
Radio waves

[CIT711] A technique that allows more than one program to be ready for execution and
provides the ability to switch from one process to another is
multiprogramming

[CIT711] Which of the following memory has the least memory access time?
Cache

[CIT711] Which of the following provides a foundation upon which application programs
can run?
Operating system

[CIT711] Which of the following is true about half-duplex communication?
both parties can transmit but not at the same time

[CIT711] User program receives operating system services through
System calls

[CIT711] Classify the following according to the data transmission speed?
Optical fibore>UTP>Coaxial cable
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